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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What are the objectives of New Public Administration ? 

Discuss the development of New Public 

Administration. 

uohu yksd iz’kklu ds D;k y{; gSa \ uohu yksd iz’kklu 

ds fodkl dh foospuk dhft,A 

2. Discuss the role of Chief Executive in administration 

and also state the functions of Chief Executive as a 

General Manager. 

eq[; dk;Zikfydk dh iz’kklu esa Hkwfedk dk o.kZu dhft, 

vkSj lkekU; izcU/kd ds :i esa eq[; dk;Zikfydk ds dk;ks± 

dh foospuk dhft,A 

3. How does public administration differ from private 

administration ? Discuss the area of public 

administration. 

yksd iz’kklu futh iz’kklu ls fdl izdkj fHkUu gS \ yksd 

iz’kklu ds {ks= dh foospuk dhft,A 

4. Write a critical essay on the aim, methods and types of 

the training of public employees in a modern state. 

vk/kqfud jkT; esa yksd lsodksa ds izf’k{k.k ds mís’;] i)fr 

vkSj izdkj ij ,d vkykspukRed fucU/k fyf[k,A 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Explain the subject area of public administration. 

yksd iz’kklu ds fo”k; {ks= dks Li”V dhft,A 

2. Write an articles on the role of development 

administration in the context of developed and 

developing nations. 

fodflr vkSj fodkl’khy jk”Vªksa ds lUnHkZ esa fodkl iz’kklu 

dh Hkwfedk ij ys[k fyf[k,A 

3. Shed light on the relationship between public policy 

and governance. 

yksd uhfr ,oa iz’kklu ds e/; lEcU/kksa ij izdk’k Mkfy,A 

4. Explain the concept of „POSDCORB‟ propounded by 

Gulick. 

xqfyd }kjk izfrikfnr ^iksLMdkcZ* dh vo/kkj.kk dks foosfpr 

dhft,A 
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5. Highlight the importance of scientific approaches in 

the study of public administration.  

yksd iz’kklu ds v/;;u esa oSKkfud mikxe dh egŸkk ij 

izdk’k Mkfy,A 

6. Write a brief essay on the characteristics of the 

development administration. 

fodkl iz’kklu dh fo’ks”krkvksa ij laf{kIr fucU/k fyf[k,A 

7. Explain the contribution of Henry Fayol, the 

propounder of classical ideology of management. 

izcU/k dh ‘kkL=h; fopkj/kkjk ds izorZd gsujh Qs;ksy ds 

;ksxnku dks le>kb;sA 

8. Explain the difference between centralization and 

decentralisation. 

dsUnzhdj.k vkSj fodsUnzhdj.k ds chp vUrj Li”V dhft,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct alternative : 

lgh fodYi pqfu, % 

1. Who has propounded “The Principle of Exception” ? 

(a) F. W. Taylor 
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(b) Henry Fayol 

(c) James Moone 

(d) Louis Brandis 

ßviokn dk fl)kUrÞ fdlus izfrikfnr fd;k \ 

¼v½ ,Q- MCY;w- Vsyj 

¼c½ gsujh Qs;ksy 

¼l½ tsEl ewusa 

¼n½ yqbZl czkafMl 

2. Indian Institute of Public Administration was 

established in the year of : 

(a) 1953 

(b) 1954 

(c) 1955 

(d) 1956 

bf.M;u bULVhV~;wV vkWQ ifCyd ,MfefuLVªs’ku fdl o”kZ esa 

LFkkfir gqvk \ 

¼v½ 1953 

¼c½ 1954 

¼l½ 1955 

¼n½ 1956 

3. Who wrote the book „The Theory of Prismatic  

Society‟ ? 

(a) F. W. Taylor 

(b) Michael Hill 

(c) Fred Riggs 

(d) Herzberg 
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^n F;ksjh vkWQ fizTeSfVd lkslkbVh* iqLrd fdlus fy[kh \ 

¼v½ ,Q- MCY;w- Vsyj 

¼c½ ekbdy fgy 

¼l½ ÝsM fjXl 

¼n½ gtZcxZ 

4. How many organs is of formal organization ? 

(a) 4 

(b) 5 

(c) 8 

(d) 2 

vkSipkfjd laxBu ds fdrus vax gksrs gSa \ 

¼v½ 4 

¼c½ 5 

¼l½ 8 

¼n½ 2 

5. Author of the book „General and Industrial 

Management‟ : 

(a) Taylor 

(b) Gullick 

(c) Urwick 

(d) Fayol 

^tujy ,.M b.MfLVª;y eSustesUV* uked iqLrd ds ys[kd 

Fks % 

¼v½ Vsyj 

¼c½ xqfyd 

¼l½ mfoZd 

¼n½ Qs;ksy 
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6. In the public administration “Area of control” related 

to : 

(a) Order 

(b) Money 

(c) Government 

(d) Public 

yksd iz’kklu esa ^fu;U=.k dk {ks=* lEcfU/kr gS % 

¼v½ vkns’k ls 

¼c½ /ku ls 

¼l½ ljdkj ls 

¼n½ turk ls 

7. Which part of management is „leadership‟ ? 

(a) External  

(b) Internal 

(c) The middle 

(d) High level 

^usr`Ro* izcU/k dk dkSu&lk Hkkx gS \ 

¼v½ cká 

¼c½ vkUrfjd 

¼l½ e/; 

¼n½ mPp Lrjh; 

8. The Ashaton Committee was related to which field ? 

(a) Training 

(b) Recruitment 

(c) Competition 

(d) None of these 
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,s’ksVu lfefr fdl {ks= ls lEcfU/kr Fkh \ 

¼v½ izf’k{k.k 

¼c½ HkrhZ 

¼l½ izfr;ksfxrk 

¼n½ buesa ls dksbZ ugha 

9. Who is the propounder of X theory ? 

(a) Herzberg 

(b) Maslow 

(c) MacGregor 

(d) Thorndike 

,Dl „X‟ fl)kUr ds izfriknd dk uke gS % 

¼v½ gtZcxZ 

¼c½ eSLyks 

¼l½ eSd~xzsxj 

¼n½ FkkWuZMkbd 

10. How many levels are there for the managing operator ? 

(a) 6 

(b) 9 

(c) 3 

(d) 8 

izcU/k ifjpkyd ds fdrus Lrj gksrs gSa \ 

¼v½ 6 

¼c½ 9 

¼l½ 3 

¼n½ 8 
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